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I'u & i= dh ;ktuk
Scheme of Question Paper

fo'k;i& ILNr tekufodh i.lkd 4 100
le; 1 3%V
{4 gk;j 1d.Mjh K120t
ivh “kkf.kd mnn*; d vullkj eku

(A) Weightage as per Educational objective:

10 20 mnn*; vd ifrekr
1- Kku (Knowledge) 51 51%
2- vock/k  (Understanding) 55 55%
3 vui;kx ,0 dk'ty (Application & Skill) 24 24%

kX 100 100%

ick bdkbokj vdk dk efu

1000| bdkb dk uke bdkb 1j vkcfVr vd | i'u&i= d ikzi vullj
viciVr vd
1- h/k 04 04
2- lekl 04 04
3- nzi 04 04
4- MK - 1&01P; 06 06
5- NUn 05 05
- vydi] 05 05
[- fucl/k 08 08
8- 1I=3vifBr 08 08
9- bfrgkl 16 16
10- iLrd 40 40
6- X| 08 08
] 08 08
7- 1" uklkj fgUnh 05 05
ILNr 05 05
8. T 04 04
9- "vid 05 05
10 fiDr LFku@mfpr Bck 05 05
11-
12-
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W14 dfBukb Lrj (Difficulty Level)

10 @0 mnn"®; vd ifrokr
1- 1jy (Easy) 20 20%
2- vkl r (Average) 52 52%
3 dfBu (Difficult) 28 28%

kX 100 100%

fink 1"ul= fn"lk fun' ,o fodYi ;ktuk &
(Instruction's& Schemeof Option for Question Paper)

e oOLrfu'B 1"u e %05 cgfodYih; 1"u rHk 1054 fjDr LFku di ifr@mfpr kM
cuk, dk 1"u fn;k thoxk vkj ;g 1R;d IV e 1'u Dekd 1 gxk A
o IR;dIVel2,03vdkd 1'uke lurk jgxh A leLr 04 vd ;k bl

vikd vdk d yAmUkjh; rFk ni%mUkjh; §7uk e fodYi fnk thuk g A fodYi
1'u mih bdkb T rFk Beku mnn*;k d jgx A 04 vd ;k bl I vikd vdk d
1'u iR;d IV e ,d letu jgx A
e Vikdre mlj Nhek virymlkjh; 12 vd@30 "Kni §3 vd @50 "Kn
yAmUkjh; W4 vd@75 "Knk 15 vd @150 "kon
ni2kmUkjh; 6 vd ;k vikd@250 "Knk
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i'u & i= dk tyfiv
Blue Print of Question Paper

fo'k;4& BLNr Yekufodht i.kd ¥ 100
le; 1 3%V
Ejh{kk t 12 on
bdkb bdkb bdkb 1j vdokj 1'u dy
1-0- vicfVr vd 1"u
l1vd|2vd|3vd|4 vd|5 vd|6 vd| 6 vd
8 vd
bl 1
vild
1 |k 4 & 2 & & & & & 02
2 |Hekl 04 & 2 & & & & & 02
3 |"KCnzlk 4 & 2 & & & & & 02
4 |/kkrzlk olP; 06 & & 2 & & & & 02
5 INn 05 2 & 1 & & & & 01
6 |vydij 05 2 & | 1| & & &| & | O
T s 08 s le|&|e|lealea|1|n
8 ViBr 44 08 & & & 2 & & & 02
9 |bfrgkll 16 1 2 2 & 1 & & 05
10 |iLrd 40 & & & & & & &
X| 08 & & & 2 & & & 02
i 08 & & & 2 & & & 02
i "uilkj fgnh 05 & | & | & & 1| & & [ o
ILNr 05 & & & & 1 & & 01
Bkjk™k o4 & & & 1 & & & 01
"yikd 05 & & & & 1 & & 01
fjDr LFdu]
mfpr Dck 05 5 & & & & & & 01
thiM;
-kx 100 1 8 6 7 4 0 1 21
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Set - A
gk:j 1d.Mjh Ldy IVHQV ijh{ik

Higher Secondary School Certificate Examination

Itiy&i‘u i=

SAMPLE PAPER
fo"; & (Subject) - ILAr ekufodh le; 3 AVk (Time 3 Hrs)
d{lk & (Class) - 120h i.kd 100 (M.Mm)

(Instruction) & ifun’kk

1-

Akash Computer

IHh 1°u gy djuk viuok; g A

Attempt all the Question

1'u Geld 01 e 10 vd fullfyr g A nk dky[k.M g A [k.M "v* e 05
cofodYih; 1'u rFk [k.M Mc* e 05 fjDr LRkuk di ifr vikok mfpr
Ic/k €M, A 1IR;d 1'u d fy, 1 vd vicfVr g A

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B isfill in the blanks or
match the column carries 05 marks.

1'u Dekd 02 1 1'u @ekd 09 rd vir ykmirjh; 1'u g A iR;d 1'u
1j 02 vd vicfVr g A mRrj dh vikdre "iin Bhek 30 “kn A

Q. No. 2to 09 are very short answer type question & it carries 02 marks
each. Word limit is maximum 30.

1'u Jekd 10 1 1"u Gexd 15 rd y%mRrjh; 1'u g A 1R;d 1'u 1j 03
vd victVr g A mRrj dh vi/kdre *Kn Thek 50 *iin A

Q. No. 10 to 15 are short answer type question & it carries 03 marks
each. Word limit is maximum 50.

1'u Gekd 16 1 1'u Dekd 21 rd y%kmirjh; 1'u g A IR;d i'u e
vikrfjd fodYi g vkj 1IR;d 1°u 1j 04 vd vikciVr g A mirj dh vifkdre
"n Hhek 75 "Kkn A

Q. No. 16 to 21 are short answer type question & it carries 04 marks
each. Each question hasinternal choice. Word limit is maximum 75.
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1'U Dekd 22 1 1'u Qexd 25 rd ni%mRrjh; 1"u g A IR;d 1'u e
vikrfjd fodYi g vkj 1R;d 1°u 1j 05 vd vikcfVr g A mirj dh vifkdre
"n Thek 100 “Kn A

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question hasinternal choice. Word limit is maximum 100.
1'u QGekd 26 1 1'u Dekd 27 rd nidmRrjh; 1"u g A iR;d 1'u e
vikrfjd fodYi g vkj 1R;d 1"u 1j 06 vd vikcfVr g A mirj dh vikdre
"{in Thek 150 “Kn A

Q. No. 26 to 27 are long answer type question & it carries 06 marks
each. Each question hasinternal choice. Word limit is maximum 150.
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lk* Uk 2
lk*Uk 3
lk*Uk 4
lk*Uk 5
lk*Uk 6

1"k 7
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LKLINRK YEkKUkfOkal LKV& ,
KUK LUEMUK - O#RKS:
fjORk LFMUL k IkfRk o = RK&
NTHK &8&8E&E&&EMK] M HEWIk-FlKLKK A
gRRKKEKTTK &8 &E&ALIK'VK&E&E&IKkC:
LIk &8.&8&&E&E " KPke
WK 8&&E&E&EMM. Kk
Vighj &&8&EE&LK[K HORKA
VUKV NUL & Yigk.k fYR[ IRKEK &
- kalkYkdlkL knkgj .k fYKL IRKEK &
(knkuk UKEKRK @ECK YRRk &
Lifike NROK 3K "kon K6 UERdUk FYK[Rk &
dfik& v Ik 2- gLk&S& VKRG 3 (kgt & NRKEKA
FRE TN ke LiE IR0 Uk FYK KRR
1- Ekgn"0k Kk 2- fPYUEK KEK 3- fK"KgLkTRKA
IR KON e LKEKLK fkhg NROK URkEKUK FYK[IRk &
1- GKTKK="6 2 JRERYREEK.Ke 3 kK" Keekt
Y TKn K LUERTLKD ko FYRFIROK UKKEKKRUK YRRk &
1- UYKEK mRIKYK 2- YKKEKNORKG 3- TKPRXKOKEK A
fkn "KULKG .k 306 Clonk; K dkjd jPRGEK FYK[IRK &
VLEN& PIRKF & fek'k oPKK' ]
V(K& TR K & fk oPHIK |
bnEk& IKFYYIXK RRRkY K& ek oPKUK'k A
Y tionk; ke kDR ORPKUKRK p FYK[IRKG:
1- VLEkdIEK 2- RikJk 3- , OfLEWK A

ol 'WKIPKRK kK. KKEK "KCnkuk ZkkRk = IKEK fuk'k OKPRUK'k FYK[KRK &



lk*Uk 15
lk*Uk 16
lk*Uk 17
lk*Uk 18
lk*Uk 19
lk*Uk 20

lk*Uk 21

Akash Computer

RS, FORFATYRSNK & EK/ ek Tk= "% ]
N& YKV & WUk k=" ]

k& YKV & mRRYEK fk= Y]

k& YRV &k Tk="% A

ok JHEC KON OPYRK Ykalkj] k=l Pk PRI & i3
1 @hMF6 2 VAP 3 O Kk 4 THUKURA
NUNLk ek FYR[IRLE: i3

ROKEKOK EMKRKK Pk fIKRKk ROKEKOK ] ROKEKOK CKUZK™Pk LK Kk  ROKEKOKA

ROKEKOk 0k | k efOk.k ROKEWOK] ROKEKCk LKOKEK EXEK nlk nOKiAA

;dLl; NUnLk Yk{k.k Lkknkgj.k fYk[Rk& 3
1- DUselkTkk 2- miKTkkfRk A

 Xkn VRO VRKOON b LKFQKIRK IkEjPK k- nifTk, & i34
kind LILNRK wij Yifdd LKLNRk B Rk wRkj YKLk, & 13
V. kd K mikUCkn TG LkEIRk Tk FYRTK, & i34
WGk o IKEkk XAk Uk FYRFLK, & 134
Hikgfj d “iakdk ok IKFjPKk nifTk, & i34

LOK IkkPkk K LKLINRK HKk'We Kk Tk Pk flkikk wOkdlk™ Kk vkonu TkaEk fYK[KRKS:

INFIOH

L0k Ak IRk KK RFK Tk FYK IEK

VYR VIKBR M [kIE IKBRoK fglnh M kk wUkokn  RIR0R 1k ki
mlkie .k kkd p LILRRK B YRR, i
LKL Ok RO Bk ol KB WK KA KR 0 LIERTE Tkl K
THEK HOGRC A fgLi] HOVIPKGRN K K mikedkt LBk 1M KR Rekk EKYK
VK L0k ORIRKA 0Kk ik it DKk VKL K WUADIj gk LETTHG HOEKA
i"u&



ALk

k"Uk 25
N
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1 n[kUkk EKYk olkj.kek fAEK\
2 d'k ERYK wTk{kk Ok OKRKRKN
3 LKTTHG bffk lkn dk fOkHkfDRK\
4 ORkRK Dffklkn oIt /K@K

gfLRk JXKYK oIFkk WFIOK «k K6 ERRL M OIFKC K LiGK'K YKL IRRER

LKLINRK KKK Kk EvgROKEK

LIRLKKRG oIFk flEk Uk ojkfRk IKLIAEK

vk kikd Rk THkYKkD

VPG ER  /KEK

o' WPKRK ok KKk XKLk Kuk fgunh #IKAkj .k T IRGEKS: 9%

LWEIRK FekfOkMk LKLNRK *k{kk Tk kYK n® JRkA , oIk IRkGENFj A WUl wik/kfUkdlh

vIkjk Pk LKEKFUORK Tk{ik DIRKGA K VLE k(i IkjENTFah IK)fRK fOk | Rk Lk
LKLIRK IKkBKeYKLK LKLINRK Ekglfik YRS LKLIRK f0k*0k 0k YK K% Pk IKPRFYKRKK

ORKRKA

KRk PHUzeIKM f0kfr OKFRKO_KLFK \//KORRLIOK ™ KKLkLk Rk URKYIKEKI Klkn"\V_KEk WLRKA

AlOkYk Pk fURLKXKRK] WRKQUK Rikek YEH K TRARHOR:  KKOKUK  IKHROKEKA kT . ERKTK kEKk
- M Yi{EHkeRtA

OIFLEKPIRK TRYKK™K k ok K6 EKRL, KK TUOKLKFURK LEKA Rk'% , ol WURKNKRK TOR/GRKK KKEKA

LK VURIRRRKL k0 kLKUK IkFjgkj fPRURK KRKA. FRRKN K6 KR KRIKUUKEKTRKE  UKKEKA Lk

VAIKRKRKL, k O KLKUKL k PHRK k.k IkRkalkj oIjKFRKA RRRKLKE kn HKEOK' K UKKEKA

VUKD ofjLOkE PRINRK U knklk fUkPk k LOklkekk k ik K k Pk Lkek [ KRkokkA

Rk Pk LOKNRK U kU fUkF*PK k RLEK CIFWk ek MR A Rk KefHkUUK HKUUK OkkXnkUk

LK. K LRIk Ok ko fURERUk MRk IKERKICKHES X i = JRKIOK 0, Kkl YKk - HOKRKA

FHE Yikd e fgunh WRK FYK] KRKGEK

VFK ITROREREAIKS TKAMRK] TG Kk KRk XkkfgRk YUK EKRY KKEKA

KKKk TRk IRk OK)ORRLKK) KW/ AVUREK'KEKEKKPK A
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VYKL K fg EKUK" Kk.kk “kjhyLFkk Ekgkfy k]

URKLR, & | EKLKERK Gk NROK k- URKKLKNTRKAA

ek Uk fOk Dk Uk Ridkk Uk kUK KUK Uk KoYk Uk Xk.Kk Uk /KEKA
Rk EKR,KYKkdl HifOk Hkkj HRRKG]) EWUK" K #Ik.k ERXKK™ Pkj fURKAA
a'WPKRK 1K™ Pk K" UkkUkk mUKGKE. K EKKRRHKK'Kk Kk YK KRk
Lkpf{k.kk dt IkTRk: \

JiRk Uk fOkHkKRRKN

N kAU KTk dIFk TRRKFEKPNTRK

fh{kk *ion Uk /kkRkUkk  fURTEKRKEN

VIRkdOkknUk cFk Thk kURK\

YK(E KK IkHkkOk: XKUFKL, K JPKF KKk ol \

a'WPkRK 1K™ Pk Ik UkKURK Rk kE.k LKLk HRK'Kk KiEk FYK L KRMEK
EVQKREKKUKk CIEK Yk{k.KEK WFLRK\

foRk EkUkkgkf Pk de nYkHé & nyHk opt fdefLir\

db IfMRKE Xk.kK®Pk dIf\

Lk[k ot TKkIUKkFRK\

HikjRk Xkk dIFk IKT KRk \

COEkkj . .k fdEk UKEk gfLRk\



Set -B
gk:j 1d.Mjh Ldy IVHQV ijh{ik

Higher Secondary School Certificate Examination

Itiy&i‘u i=

SAMPLE PAPER
fo"; & (Subject) - ILAr ekufodh le; 3 XV (Time 3Hry
d{lk & (Class) - 120h i.kd 100 (M.Mm)

(Instruction) & ifun’kk

1-

Akash Computer

IHh 1°u gy djuk viuok; g A

Attempt all the Question

1'u Geld 01 e 10 vd fullfyr g A nk dky[k.M g A [k.M "v* e 05
cofodYih; 1'u rFk [k.M Mc* e 05 fjDr LRkuk di ifr vikok mfpr
Ic/k €M, A 1IR;d 1'u d fy, 1 vd vicfVr g A

Q. No. 01 Carries 10 Marks. There are two sub-section, Section A is
Multiple choice carries 05 marks and section B isfill in the blanks or
match the column carries 05 marks.

1'u Dekd 02 1 1'u @ekd 09 rd vir ykmirjh; 1'u g A iR;d 1'u
1j 02 vd vicfVr g A mRrj dh vikdre "iin Bhek 30 “kn A

Q. No. 2to 09 are very short answer type question & it carries 02 marks
each. Word limit is maximum 30.

1'u Jekd 10 1 1"u Gexd 15 rd y%mRrjh; 1'u g A 1R;d 1'u 1j 03
vd victVr g A mRrj dh vi/kdre *Kn Thek 50 *iin A

Q. No. 10 to 15 are short answer type question & it carries 03 marks
each. Word limit is maximum 50.

1'u Gekd 16 1 1'u Dekd 21 rd y%kmirjh; 1'u g A IR;d i'u e
vikrfjd fodYi g vkj 1IR;d 1°u 1j 04 vd vikciVr g A mirj dh vifkdre
"n Hhek 75 "Kkn A

Q. No. 16 to 21 are short answer type question & it carries 04 marks
each. Each question hasinternal choice. Word limit is maximum 75.
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1'U Dekd 22 1 1'u Qexd 25 rd ni%mRrjh; 1"u g A IR;d 1'u e
vikrfjd fodYi g vkj 1R;d 1°u 1j 05 vd vikcfVr g A mirj dh vifkdre
"n Thek 100 “Kn A

Q. No. 22 to 25 are long answer type question & it carries 05 marks
each. Each question hasinternal choice. Word limit is maximum 100.
1'u QGekd 26 1 1'u Dekd 27 rd nidmRrjh; 1"u g A iR;d 1'u e
vikrfjd fodYi g vkj 1R;d 1"u 1j 06 vd vikcfVr g A mirj dh vikdre
"{in Thek 150 “Kn A

Q. No. 26 to 27 are long answer type question & it carries 06 marks
each. Each question hasinternal choice. Word limit is maximum 150.
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LkLRIRk E kKT LkERgi: LKV
fEKACIR *Knk oIk Lkik f0PNn dj mikdl Wiek fYR[k; 4dkb nié &
14 KPP ki 124 EkgfPpal 13t EkgPN«kEk
EUFOIR: "Knk ok Lk dj WE YLK, 4dkb nié &
0% fkn & gk 424 KTk &Uh 134 mRk& YRk A
AkEKACIR "k ok LEKLK fikkg dlj] mikdl Uiek LK, kb ni&:
0 LKLKGOK 424 INPHK K6 434 PRXKONEK
fkEACIR ok LKLk kg dj LUBKLKD *KCn Olikb_k 4ok i
b IHCK Pk KRk Pk 424 PHEK.K LIBKIEK S38vAREKK bRk
kan'kkUkkaj on = Ik R OPIUK B PYK, 4clkb nks
An UKFYYRKE IVFRE FXEMTDRK
folek SKKLKOIfYIWS LR
MK SlIREKDl: IPKED FoHiDRK A
kEKFOIRE *In = I ol ERvkeicn] Ok kaDRk] PN KgPHkdlj YT,
0% Ok JEk 42 d{kk,kkEk 3 EURG
RN RO MAkwk b Rk OBV Bk VKK, 4clkb niké
v R Uk LENtE YV Ykolkj &Ik
R Rk 4k LEnt ARSI Ykalkj& v- Ik
AT Rk UGLEKKOR YRV Yidlj &8kl
fkEUKCIR o /MR I YK IkgPik dlj PYHTK, & iclkb nké
14 djik 424 PY' k 434 wnf/k A
AKEUKACIR 0D Kk Bk flkn WKLk (P K IKGjORK dlj &4k nk &
66 LR BRk 4CIEP
K ROk gUsr Rk NP
L gLifRk Ok 0P K ¢

nkk

12
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NUn o IkEjHK'k fYRF[K, &

vV NUn dk mnkgj .k YKk, \

vYk3dkj dh Ik mnkgj .k LkigRk fYkF[k, \

VHKRKJU KLk vYk3dkj dk Dk Yk{k.k g \ mnkgj.k ndj LIK'V difTk,\

fUKEURFCIRK Ek Lk falLkh , o fIk'%k Ikj KUeg OKD K Ek LKLNRk e fUlck/k FYR[K, \

Uk *k{kk Ko vko™ ; drk 181

kB "KkB ;e LKEKkPKkjRk

LKLNRK HRK'Me K EkgRoke

VIPKkGS TkpEKK /kEk: A

flRK) KRk IKLRkOIKFK Thek FYK[KRK& i
v/ FhOkKE

IkPkk ke TKfRk Ik™ Pk fnUkkUKKEK wOkdlk™kkFk Ikek fYK[KRK \

fUKEUKF IRk WIKBRK Xk k"k oIk Ik<dlj WPk fYK[k kU o mUkj nhfTk, & %

RRK: EkgRkUk dlk-flk CIkIkYklt LKEKOGRKA RKEK Oka{ k Ckf)LKkKkjh Ikkg, Kkhlee !

aRky WVIXKE KRKA ek Rk £7kidkj "PKN Kk Ikkg& nlk ! vLEKd Ukdlk n*KA Lkd Yk

HREK. MYK HKEKKEKE A JKTKk Rk n.MORK TK.KE.k wkg ! Bk Kk gRKL. K Thekl K Ikk.knkUkk

Ek J{KA akIkkFYkdh WOknRk& JKTKUK 1 EKKEK'WE IkekLRK Uk EXFJ" KFRKA ¥k IkLKknUk

XKQEK" kiRKA RKRKK Jkekk Xk< Z1k.k HRKTHK Wrflk Rkek UKRKEA  KkFXkUKk HKKTKk THAfORRKSA

VURK Pk HKKTKGKTHK JRTRHKOKUKEKXKKRKA RKRKE LKRK"Vk KTk fUKTKFLKgkLKUK fUkOK™ k RKLEK

JKT k nnkA

Ik* Uk

1 Rhek EkgRKUK olf LKEKKXKRKE\

2 dklkkykd 0{ k O Lkkxkph fd Ikkg\

3 IkIEK bfRk Tkn df mikLkk df iRk Pk IRk K\

LK) Ok fARkK gidk g\ Gk ok YK, & 24
24 VIRLF .k dik@okk Lk g\ 24
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3 BgPk ik d Lk dk YLK\ 24
W RkGGHEC B ok LIEOKD K 3
5 (ind vj Yiidd LifgRk B VR LIKV difTk, i5¢
AEUFOIRk LILRRK X [k B Lk fdUgh nk ok fgnh B vk YR, & 18
ALK YERL e VACKKYK Ok{IOKFIRM LIk RRL KT KLU VALK Bk KSR RRS:
WAk inilik Yikdli Rk ek o BLA Rk ndla 0vidLk nokh ol e .k
LIk VTIKKA. (O K KKKKUKPK VAR LKk BB/ HLIRIA

K KUREUKG - EghfORKLI KRR PRnIkPRYkCIK Rk KD Rk ReFULKONGj iRk
PRYIKOIg ik LORkdEk Rk mikn"kkd{ak K86 vLUEK)! Litkn LEkn® &
dFEf Ok ULFIL K THILK WNEK LiSdRiak kKR fORK LK
Kkl *PRL, Rk

M d ijkaUFk kil Wk YFDREA kn ABk NigLEAIK 0] Wk Ok IRiA fd

Pk EKVj LK.k k™ KonUk - IKORUK'KTRURRKK - oIkYKkg YkUK Pk /KEKKPKj .k Ck/kk Ok
HOKFRKA W LEKIEK Ok |0k nUkUk ch/kk HORKAMRK WIKR Kk, OkA
fkEUkfdRk *Ykkdlk Ek Lk fdUgh nk dk fgunh Ek wFk fYK[k& 181

AR UEALRRG0G QYMNXIER UKDk ERVHFECKUK UKk
VIORK LRGN LB e Lok 0% Kkl Keka

mnkLK Bk foll] "KLk Bk Bk.Ieka

OGDRL.K Rk k] fURLIKGL K Rk.k TRNRAA

VRV K fg BUK KK “kjhjLRK ExgifjlkiA

LR IAEKLIE Ok ROk UKOKLIAnTRiA

AEUFCIRk Bk Lk folgh TPk Ikl of mARkj LKLRIRk B mifTk, & 5
YK e IFEk VKRR

Ik dllk TR

oIfLEK Nk Uk Ok

nTkke dlk kdkj.k &k clRio,\



5 ol Bk ke kR VALIRR
6 MFAEign IRk TAEOIFY KR
014 FUEKFRK B Lk follgh Pk Ik d mlkj fgUnh E na 5
T YiEh din’lh HOGR
2 LR f { CIORE Gk wALIGR \
3 AR vLEkd dIFE Y KRR
b Lnflck i db TR
5 M k«kL,k ok Ik
6 JUVKKK dlk TIREN
15 flg Ik dRk ol LGk I ienk B YK, \ 1
'k 16 BT KRk Lk dBLFk folk X, dkb nk LI ML, T bLk Ik Ukek &
k vk, gi\ I55
U 17 fiORk LFGUK oh Kk dbfTk, \
0 T 8&E&E&E&TK] k- YKRI-fik Lik A
25 NRESREEIVIREE&A
3 LnfLE8&SE&, KKDEA
W ARG S8 &8 &ER O QYHNNIEA
5 KT 8&E&ESE&EERM IRkA
B KK K LKIRERE&E8E8&EA
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